Cost and Management Accounting (568)
Second Assignment


Q.1
What is the underlying principle of a flexible budget?

Ans.
The underlying principle of a flexible budget is the need for some norm of expenditures for any given volume of business.  This norm should be known beforehand in order to provide a guide to actual expenditures.  


Flexible Budgets

Budgets are numerical plans based on certain definite assumed conditions and results which are forecast of sales, costs, and expenses.  The budget could be a fixed or flexible budget.  Fixed budgets are not adjustable to actual values attained. A flexible budget, on the contrary, is adjustable to the actual values attained.  Flexible budget are based on the fact that cost and expenses are affected by fluctuations.  


The preparation of a flexible budget results from the development of formulas for each department and for each account within a department or cost center.  The formula for each account indicates the fixed amount and/or a variable rate.  The fixed amount and variable rate remain constant within prescribed ranges of activity.  The variable portion of the formula is a rate expressed in relation to a base such as direct labour hours, direct labor cost or machine hours.  Volume is the variable factor in business.  It is related to capacity by the fact that volume (activity) attempts to make the best use of existing capacity.  


Underlying details

The success of a flexible budget depends upon careful study and analysis of the relationship of expenses to volume of activity or production and results in classifying expenses as fixed, variable and semivariable.   The analysis of cost behaviour focuses on factory overhead costs.

•
Fixed expense remains the same in total as activity increases or decreases.  The classification of an expense as fixed is valid only on the assumption that the underlying conditions remain unchanged.

•
Variable expense is expected to increase proportionately with an increase in activity and decrease proportionately with a decrease in activity.  A measure of activity must be selected as an independent variable for use in estimating the variable expense, the dependent variable, at specified levels of activity.  A rate of variability per unit of activity is thus determined.

•
Semivariable expense displays both fixed and variable characteristics.  Examples of such expenses are the salaries, of personnel, insurance and pension plans maintenance of buildings and grounds and utilities charges, etc.


The following statistical methods are used in determining the fixed and variable elements of a semivariable expense:

•
High and low points method - equivalent to solving two simultaneous equations, based on the assumption that both points fall on the locus of the true variable cost line.  Expense levels may also be determined by the use of graphs which shows the total expense and its fixed and variable elements and also permits the quick calculation of any budget allowance within the relevant range of activity.

•
Statistical Scattergraph Method - used for analyzing semivariable expenses.  In this method, various costs are plotted on a vertical line - the y axis - and measurement figures are plotted along a horizontal line - the x-axis.

•
Method of least squares (simple regression analysis) determines mathematically a line of best fit or a linear regression line drawn through a set of plotted points, so that the sum of the squared deviations of each actual plotted point from the point directly above or below it on the regression line is at a minimum.

Q.2
(a) 
As the discount rate increases, the present value of a given future sum also increases.  Do you agree? Explain.

Ans.
When a higher discount rate is used, the present value of the investment will be lower.  In other words, as the risk of an investment increases, its value to investors decreases.  


The discount rate may be viewed as the investor’s required rate of return.  All investments involve some degree of risk that actual future cash flows may turn out to be less than expected.  Investors will require a rate of return which justifies taking this risk.  In today’s market conditions, investors require annual returns of between 5% and 8% on low risk investments such as government bonds and certificates of deposits.  For relatively high risk investments, such as the introduction of a new product line investors may expect to earn an annual return of perhaps 15% or more.


This can also be seen in the following table:

Table

Present Values of Rs.1/-

due in n periods

	No. of periods


	1%
	1.5%
	5%
	6%
	8%
	10%

	1
	.990
	.985
	.952
	.943
	.926
	.909

	2
	.980
	.971
	.907
	.890
	.857
	.826

	3
	.971
	.956
	.964
	.840
	.794
	.751

	4
	.961
	.942
	.823
	.792
	.753
	.683

	5
	.951
	.928
	.784
	.747
	.681
	.621


Q.2
(b) 
Nazir and Company is considering the purchase of certain new equipment in order to sell a new product line.  From the following data, compute the net annual cash inflow that would be used to determine the payback period on the equipment.

	Sales
	
	Rs. 300,000

	Less cost of goods sold
	
	90,000

	Gross margin
	
	210,000

	Less operating expenses:
	
	

	
Advertising
	Rs. 70,000
	

	
Salaries/Wages
	100,000
	

	
Depreciation
	24,000
	194,000

	Net income
	
	16,000


Ans.


	Net Income
	Rs. 16,000

	Depreciation
	24,000

	Net Annual Cash Flow
	40,000



Advertising is a normal cost and will incur every year.  If it is only first year cost of introduction of the Product, the net annual cash flow will increase by Rs. 70,000.

Q.3
Khyber Company manufactures two products, X and Y with contribution margins of Rs. 50 and Rs. 30 respectively.  One hour of machine time is required to produce one unit of each product.  A maximum of 50 hours of machine time is available each period.  It takes two hours of direct labour to produce one unit of X and one hour to produce a unit of Y.  No


available each period.


Required:


Using the simplex method, determine the product mix required to maximize the company’s total contribution margin each period.

Ans.
X + Y 


50


2X + Y 


60


CM = 50X + 30Y


If S1 and S2 are slack variables


X + Y + 1S1 + 0S2 = 50 ............R1


2X + Y + 0S1 + 1S2 = 60 .................R2

	Cj
	
	
	50
	30
	0
	0

	
	Mix
	P0
	X
	Y
	S1
	S2

	0
	S1
	50
	1
	1
	1
	0

	0
	S2
	60
	2
	1
	0
	1

	
	2j
	0
	0
	0
	0
	0

	Cj -
	2j
	
	50
	30
	0
	0



By R1 - R2
	Cj
	
	
	50
	30
	0
	0

	
	Mix
	P0
	X
	Y
	S1
	S2

	50
	X
	-10
	-1
	0
	1
	-1

	0
	S2
	60
	2
	1
	0
	1

	
	
	
	
	
	
	

	
	
	
	
	
	
	



By multiplying R1 by -1

	Cj
	
	
	50
	30
	0
	0

	
	Mix
	P0
	X
	Y
	S1
	S2

	50
	X
	10
	1
	0
	-1
	1

	0
	S2
	60
	2
	1
	0
	1

	
	2j
	500
	50
	0
	-50
	50

	Cj -
	2j
	
	0
	30
	50
	-50



By multiplying R2 by -2R1
	Cj
	
	
	50
	30
	0
	0

	
	Mix
	P0
	X
	Y
	S1
	S2

	50
	X
	10
	1
	0
	-1
	1

	30
	S2
	40
	0
	1
	+2
	-1

	
	2j
	1700
	50
	30
	10
	20

	Cj -
	2j
	
	0
	0
	-10
	-20



X = 10


Y = 40


CM = 1700

Q.4
Gulf company’s factory is divided into four departments - two producing departments, cutting and finishing, serviced by the buildings and grounds and the factory administration departments.  Servicing department costs are allocated to producing departments only - Buildings and grounds based on square feet, and factory administration based on direct labour hours.  In calculating predetermined over head rates, machine hours are used as the base in cutting and direct labour hours as the base in finishing.

	
	Cutting
	Finishing
	Building & ground
	Factory Admin.



	Budgeted factory overhead
	200,000
	300,000
	40,000
	60,000

	Direct labour hours
	100,000
	50,000
	-
	-

	Machine Hours
	212,000
	-
	-
	-

	Square feet
	50,000
	30,000
	1,000
	2,000



The following data pertains to job 2375:

	Cutting:
	Direct materials
	Rs. 35

	
	Direct labour, 3 hours @ Rs. 6
	18

	
	Machine hours


	7

	Finishing:
	Direct materials
	10

	
	Direct Labour, 5 hours @ Rs. 8
	40



Required:

1.
Calculate predetermined factor overhead rates for the producing departments.


2.
Determine the total cost of the job 2375.

Ans.

	
	Cutting
	Finishing
	Building & ground
	Factory Admin.



	factory overhead apportionment
	200,000
	300,000
	40,000
	60,000

	Building & Ground
	25,000
	15,000
	(40,000)
	-

	Factory Admin.
	40,000
	20,000
	-
	(60,000)

	
	265,000
	335,000
	
	



Overhead Rate:

	Cutting :
	265,000/212,000 = Rs. 1.25 per machine hours



	Finishing:
	335,000/50,000 = Rs. 6.70 per labour hours.





Total cost of Job 2375:

	Direct Material
	
	

	Cutting
	35
	

	Finishing
	10
	45

	Direct Labour
	
	

	Cutting
	18
	

	Finishing
	40
	58

	Factory overhead
	
	

	Cutting:

(7 hrs @ Rs. 1.25)
	8.75
	

	Finishing

(5 hrs @ 6.70)
	33.50
	42.25

	
	
	

	Total Job Cost
	
	145.25


Q.5
Kohinoor Company produces only one product.  Normal capacity 2,000 units per year, and the unit sales price is Rs. 50.  Relevant costs are:

	
	Unit Variable Cost
	Total Fixed Cost

	Materials
	10,00
	

	Direct Labour
	12.00
	

	Factory overhead
	5.00
	15,000

	Marketing expenses
	3.00
	5,000

	Administrative expenses
	-
	6,000



Required:

1.
Compute the break even point in units of product

Ans.


	Sales = 2000 units X Rs. 50/- per unit


	100,000

	
Less variable cost (30 X 2000)
	60,000

	Contribution Margin
	40,000

	
Less Fixed Cost
	26,000

	Profit
	14,000



 EMBED "Equation" "Word Object1" \* mergeformat  


Break even point in units of product =





2.
The break even point in rupees of sales =


 EMBED "Equation" \* mergeformat  


3.
The number of units of product that must be produced and sold to achieve a profit of Rs. 100,000


 EMBED "Equation" \* mergeformat  


4.
The sales revenue required to achieve a profit of Rs. 100,000.


 EMBED "Equation" \* mergeformat  
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